
Print date: 22-06-2021

RAVAS-3200-F Li

Nr. Item code Description Special instructions Quantity

D3 LC-1000-350-MR Load cell 1000, 350 Ohm, multi-range 4.0

D3 LC-1000-M-1000 Load cell 1000 M 1000 Ohm Option: legal for trade 4.0

D4 MP-BOLT-M12-40-CYL Bolt M12 x 40 socket head D912 8.8 8.0

D5 MP-BOLT-M12-60-CS Bolt M12 x 60 countersunk din7991, 10.9 4.0

D7 MP-NUT-M12-LOCKNUT Nut M12 lock nut din985 4.0

D8 SA-BA-RAV-LI Subassembly, Battery pack Li-ion, with handle 1.0

D15 SA-CH-RAV-LI Subassembly, charger station RAVAS Li-ion battery pack 1.0

D15 SA-CH-RAV-LI-US Subassembly, charger station RAVAS Li-ion battery, USA plug 1.0

D15 SA-CH-RAV-LI-UK Subassembly, charger station RAVAS Li-ion battery, UK plug 1.0

D17 FR-32-RAV-PT Front panel 3200 RAVAS pallet truck 1.0

D18 IN-32 Indicator 3200 1.0

D19 EB-32-1AD ADC expansion module, i3200 1.0

D19 EB-32-1AD-M ADC expansion module M, i3200 Option: legal for trade 1.0

Product changes reserved 1/3



Print date: 22-06-2021

Nr. Item code Description Special instructions Quantity

D75 PT-R-RAL3000 Pallet truck Ningbo Ruyi RAL3000 quicklift 1.0

D76 PTP-R-PUMP PT-R Pump 1.0

D77 PTP-R-HANDLE PT-R Handle complete Ningbo Ruyi chassis, standard version 1.0

D78 PTP-R-WH-ST-RUB PT-R wheel steering Rubber (std wheel) 2.0

D79 PTP-R-WH-TL-PU PT-R loading wheel tandem polyurethane 2.0

D80 PTP-R-REP PT-R Repair kit for pump 1.0

D81 FS-R-RAL3000 Fork shoes Ningbo Ruyi, RAL 3000 1.0

D82 MP-BRACKET-ADA-21-PIN Adapter bracket 2100 +pin 1.0

D83 MP-BRACKET-IN-21-41-LOW Indicator bracket 2100 / 4100 low 1.0

D84 HOP-CP-RAV Coverplate RAVAS 1.0

D85 SA-HOP-RAV-GREY-LI Subassembly, parts for grey savar housing, Li-ion battery 1.0

D85 SA-HOP-RAV-GREY-PR-TH-LI Subassembly, parts for grey savar housing, therm pr., Li-ion Option: printer 1.0

D86 HO-SHIELD-FLAT-RAL3000 Shield RAVAS chassis red RAL3000 flat bottom 1.0

D87 PR-INT-TH-RAVAS-MPP8250 Printer MPP8250 Option: printer 1.0

D87 PR-INT-MX-RAVAS-ABLE Printer Able Option: matrix printer 1.0

D88 PRP-PAP-INT-TH-RAVAS Printer paper for Plus/S/MPP8250 thermal printer Option: printer 3.0

Product changes reserved 2/3



Print date: 22-06-2021

Nr. Item code Description Special instructions Quantity

D88 PRP-PAP-RAVAS-57-50-12 Printer paper 57x50x12, matrix printer Option: matrix printer 3.0

D89 PRP-CA-INT-MX-RAVAS Printer cable Able Option: matrix printer 1.0

D90 PRP-RIB-RAVAS Ribbon cassette Option: matrix printer 1.0

D91 EB-4-LC-N-21-41 Junction board 4xLC N 1.0

D92 SAP-EP-LEVELSENSOR Subassembly, Level correction sensor (incl. 2x bolt + ring) Option: legal for trade 1.0

D93 SA-IN-32-LI Subassembly, savar 3200, for Li-ion battery 1.0

D93 SA-IN-32-LI-M Subassembly, savar 3200, for Li-ion battery, M Option: legal for trade 1.0

D93 SA-IN-32-LI-P Subassembly, savar 3200, for Li-ion battery, with printer Option: printer 1.0

D93 SA-IN-32-LI-M-P Subassembly, savar 3200, for Li-ion battery, M, printer Option: legal for trade; thermal printer 1.0

D94 MP-MP-3 Mounting plate load cell 3 mm 12.0

D95 MP-RING-M12 Ring M12, din125A 4.0

Product changes reserved 3/3


